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(a) 724 (fluid) $LEI (solid)ay & & BT ?
(b) 47 3% 44275 88 (Newtonian fluid) ? 4735 32 28 R 2 (ideal fluid) ?

oA (Amta) -
73R i 4% (stream line) #3544 (trajectory) ? LA 4R35 [u = x, v =
yI(1420)] Al > RBFEHARE LR ARESEHETE LR

FZM HELTHMA (BF4825 F8HA-+EZN):

(a) B 45 (gradient) 4B LR £ > LUB T ERELE S

(b) B 4k E (divergence) #9#E A £ > EUB T HMBLEL

() BHimE (vorticity) 2T & » LUBTEMBELER

(d) #1 A Stokes’ theorem 3,88 ;& & #1 3% /% (circulation) &y B4 1 B & %

(e) #| A Divergence theorem .88 4% & 817 18 & (flow flux) ey 21 £ & &

$m8 (HBEFRLY KBETES)
RMESENMMLE(,y,2) BRI EE pTERTE p, X, v, 2)
(a) HAB S X AT dp 8t dx, dy, dz B dt & W14
(b)RHAL G Hdp/dr Bl op/o L E A
CYUBRENEU vV, WRBESHOp/o kAT S do/d

¥ 52 (BEFHREY ABMETESN)
(2) 398 Reynold’s transport theorem @ it A2 3E 4 BT &£ &
(b) #1 B Reynold’s transport theorem @ ¥ 4 i& 4§ F 42
) AR mERAE A RN EEFEHOMEETR
dpldt=—-pVeV, (fr#eia )
dplot=-Ve(pV)y, (BR#A)

54 (HFT48a5 A8%+5)
(a) & & Navier Stoke’s equation
(b) 31,88 Navier Stoke’s equation £ & IE 842 & £

FtA8 (BT8R A84L+25)

(a) 3B A 4% T (steady) ~ R 7T B 45 (incompressible) B X ZEE A F# - §
4 Bt £ 449 Bernoulli’s equation e

(b) .89 £ X Bernoulli a2 X P &BEBap2ER -

(c) 4% Bernoulli F 2K » A RMKENRITHMMELE S ERHAA?




